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=3z —22)(z + y)($%A0F) £ H L 540)
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» dq »

HF: S RBATAXT R 2 AXRAOA XN, LUREA L &K
ZEAARALBRR, SRR R HAT B, ZEETAR TR
FT—F oM, 2 T—FRARAAXEAZAAXF, BLA S
M LAEEOREZ — T b, M FTERA—F, T
—\ EA5 - wRAL, — WAL Z ZRAAL, LT AA— A
5= wRms, R RFR®RZ, 2508 F 2. A5 ES5EN, KTk
kS R MR — o

(%) 2] 48 F 51 2 4 X

(Na*-86%-a+b (2)a? - b2 - 4c* + 44

(#%)

(Ma?-6>-a+b =(a?-5%)-(a—b)
=(a+b)@a—-86)-(a—b)
=(a-b6)atb-1)

(2)a? =62~ 4c2+4bc =a’— (b2~ 4bc +4c?) =a’ - (b —2c)?

=(a+b-2c)(a—b+2c)

F/F: S RFTAXS M S AXESAA 28 X, mkRRA
B, RABXEAREEAH S, APIEMARBAER, ZiEEHR
BREAX, BERRXT REA XL RFH I, EM G oo
AEMAK AT koM, 24 RMAR, F 4T 6, &35 8K H
XM RSE, REMMiE A, EHBLERY, iz Eennr
HAXERFOBX. RERTIMME, —ZE2SME| T2 B
Ak,

(%1 3138 F 5 & K4 H R

(Da?(a+1)-6%(6+1) (2)ab(c*+d?) +cd(a®+5?)

(%)

(MWRX=a>+a?-85>-5*

=(a®~5%) +{a?- %)
=(a-b6)a*tab+6*)+(a+b)(a—b)
=(a-6)a’+ab+b*+a+b)

()R X =abc®+ abd*+ a*cd + b2cd

= (abc®+ b%*cd) + (abd* + a*cd)
=bc(ac +bd) + ad (bd + ac)
=(ac + bd )(bc + ad)

#*2: BRX=abc’+abd® +a’cd + bcd

= (abc® + a’ed) + (abd* + b*cd )

PIRIT T




